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An i H FEHE H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER] AR SR ] A ERH &EH (H) | (&)
x| 46, 680 109, 484] 53, 560] 55,924 48] -11f[  -23 61 84 12]  504] 492 0 192 192
HI—TH 677 1,423 694 729 -1 -8 -1 0 1 -5 4 9 -2 1 3
FL T H 553l 1,316 659 657 1 2 1 5 9 4 -3 0 3
LI =TH 456 1,019 492 527 2 2 0 4 4 0 3 4 1
Sl AEr 1,686 3,758] 1,845] 1,913 2 4 2 4 17 13 -2 5 7
Sk —TH 4921l 1,024 486 538 2 -3 -2 0 2 2 9 7 -3 0 3
. = 761 1,822 883 939 -5 -11 -1 1 2 -8 0 8 -2 2 4
SR —TH 548 1,310 635 675 0 2 1 1 0 -3 5 8 4 4 0
S AT H 372 913 443 470 -1 -2 2 2 0 2 3 1 -6 2 8
o h ] B 570[l 1,269 619 650 2 13 1 1 0 0 3 3 12 15 3
BN T B 219 483 229 254 0 0 0 0 0 2 2 0 0 0
ARt TH 644 1,659 829 830 3 6 1 1 0 2 2 0 3 3 0
oA\ T H 394 901 447 454 -2 =10 -2 0 2 -3 1 4 -5 0 5
IV B 501( 1,441 724 717 —4 -8 -1 1 2 -1 6 7 —6 0 6
S aatl 4,591 10,822| 5,295 5,527 -5 -13 -1 7 8 -9 31 40 -3 26 29
e n—1H 342 816 407 409 -1 —4 -1 0 1 -1 0 1 -2 1 3
e T H 940l 2,034 997 1,037 3 9 1 1 0 12 16 4 —4 1 5
HHk o —TH 674| 1,452 706 746 -3 -1 0 1 -3 0 3 1 1 0
Wk A AErl 11,9560 4,302] 2,110] 2,192 2 2 -1 1 2 8 16 8 -5 3 8
ST a1 H 578 1,259 623 636 1 -1 -1 0 1 1 3 2 -1 0 1
A T H 370 922 478 444 -2 -1 1 1 0 -3 1 4 1 2 1
Mk R =TH 247 545 270 275 1 0 -1 0 1 0 1 1 1 1 0
ik L G| 528/ 1,309 671 638 -2 -1 0 0 0 -2 3 5 1 3 2
msEr aaEtl 1,723 4,035] 2,042 1,993 -2 -3 -1 1 2 —4 8 12 2 6 4
TEIT) 351 978 431 547 2 4 -3 0 3 6 6 0 1 1 0
HOEEN— T H 155 384 180 204 0 1 -2 0 2 0 0 0 3 3 0
HOEE T H 418 997 472 525 1 0 1 1 -1 4 5 1 1 0
HoEEI =T H 676 1,728 836 892 1 0 1 1 0 3 5 2 —4 0 4
HOEEAN T H 718/ 1,797 875 922 4 12 0 1 1 6 8 2 6 6 0
HEROH T H 406 982 493 489 2 2 -1 0 1 3 7 4 0 0 0
HOEEIS T H 391 942 460 482 -3 -5 -2 1 3 0 1 1 -3 1 4
HoEEOETH 636| 1,447 703 744 6 4 1 2 1 6 12 6 -3 2 5
HOEESOSE 3,400 8,277 4,019] 4,258 11 14 -3 6 9 17 37 20 0 13 13
PEEER| 1,479 2,973 1,392 1,581 -3 -3 -1 2 3 3 11 8 -5 0 5
FHIAR 328 701 351 350 0 -2 -1 0 1 -1 3 4 0 0 0
R e — T F 455 974 479 495 1 1 -1 0 1 0 6 2 3 1
EE g — T 230 490 252 238 -1 -3 -1 0 1 -3 3 1 1 0
R = T 4921l 1,140 571 569 3 5 0 0 0 4 1 1 1 0
TEE Py T 591 1,253 593 660 -1 -5 0 1 1 -2 10 12 -3 1 4
EEP g R T H 202 525 254 271 -3 1 0 1 1 -1 1 2 2 5 3
EEP A2 1,970 4,382] 2,149 2,233 -1 -1 -2 2 4 -2 22 24 3 11 8
EEIARRT— T H 668 1,393 655 738 3 8 0 0 0 5 4 3 8 5
EEIARRT T H 695/ 1,396 672 724 8 12 1 1 0 5 3 6 8 2
EEOARRTAE 1,363 2,789 1,327 1,462 11 20 1 1 0 10 17 7 9 16 7
RPN 315 865 486 379 0 -2 -3 0 3 0 0 0 1 1 0
HHPR—TH 708/ 1,705 849 856 -3 -1 0 1 -3 1 4 1 5 4
R T H| 1,615  3,824| 1,878] 1,946 21 47 0 4 4 30 43 13 17 17 0
WHR=TH 824/ 2,174| 1,061 1,113 -1 -7 -2 0 2 -3 8 -2 1 3
HHRIT H 492 1,207 579 628 —4 -8 1 3 2 0 0 -9 0 9
HPREEE 3,639 8,910| 4,367 4,543 16 29 -2 7 9 24 49 25 7 23 16
HiR—TH 641 1,559 765 794 -4 -11 0 1 1 -8 2 10 -3 1 4
LR - TH 860l 2,165| 1,066 1,099 4 3 0 1 1 6 15 -3 5 8

PR =TH 438 952 495 457 1 -11 0 0 0 -5 1 -6 0
JedRAE 1,939 4,676 2,326] 2,350 1 -19 0 2 2 -7 18 25| -12 6 18
T IROBTHT 319 802 381 421 -2 -5 -2 0 2 0 5 5 -3 0 3
WEl 1,591 4,945 2,264 2,681 3 -3 -2 0 2 -1 7 8 0 3 3
MAE—TH 774 1,835 906 929 1 0 0 0 2 5 3 -1 3 4
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FYlE 1T H 697 1,857 948 909 -1 -5 -1 0 1 0 3 3 -4 1 5
MoE =1 H 630| 1,565 777 788 2 3 -1 1 2 1 2 1 3 3 0
A EN T H 892l 2,189| 1,071 1,118 -5 -6 -1 1 2 -6 1 7 1 5 4
RCENNE 583 1,401 680 721 -3 -3 1 1 0 -1 1 2 -3 0 3
MAESTH 410[ 1,022 490 532 4 6 -1 0 1 7 7 0 0 1 1
Ml EaE 3,986 9,869| 4,872| 4,997 -2 —4 -3 3 6 3 19 16 —4 13 17
VEPIe S 516/ 1,136 565 571 3 -3 -1 0 1 0 7 7 -2 0 2
e —TH 319 695 339 356 2 3 -3 0 3 2 3 1 4 4 0
e — T H 582l 1,350 657 693 -1 -9 —4 0 4 -5 7 0 0 0
A gl 901l 2,045 996| 1,049 1 -6 -7 0 7 -3 8 4 4 0
E— 1 H 335 726 388 338 16 14 1 1 0 20 105 85 -7 1 8
= =T H 637 1,364 648 716 -2 0 -2 1 3 -3 5 8 5 7 2
=T H 403 1,026 516 510 -2 -5 0 0 0 -3 0 3 -2 0 2
EaEtl 1,375 3,116 1,552 1,564 12 9 -1 2 3 14] 110 96 —4 8 12
e —TH 376 1,012 480 532 2 3 -1 0 1 1 1 0 3 3 0
HYE T H 425 1,081 538 543 5 2 2 0 -2 0 2 5 5 0
HHE T H 7501 1,910 964 946 -2  -14 -2 1 3 -1 4 5| —11 0 11
W& T B 461(| 1,074 510 564 -3 0 -1 1 2 2 3 1 -1 0 1
B E ] H 730 1,665 823 842 -3 -9 -1 0 1 -6 1 7 -2 1 3
HHIENT H 218 473 246 227 -1 —4 0 0 0 -3 1 4 -1 0 1
HEOE 2,960 7,215 3,561| 3,654 -5 -19 -3 4 7 -9 10 19 -7 9 16
<HWE—TH 606| 1,425 704 721 -1 -3 0 0 0 —6 2 8 3 4 1
<HEIL—TH 703 1,530 751 779 3 -1 -1 0 1 2 9 7 -2 1 3
SHBEIL=TH 502|l 1,151 565 586 0 1 1 1 0 0 4 4 0 0 0
<HEWLPTH 512 1,126 567 559 5 9 1 1 0 6 7 1 2 2 0
<O T H 347 764 422 342 -2 -2 0 0 0 1 8 7 -3 0 3
<MEEEH 2,6700 5,996 3,009 2,987 4 1 2 1 3 30 27 0 7 7
WIE AR —TH 7900 1,712 856 856 8 3 3 0 -1 6 7 12 6
WIEAR T H 454/ 1,113 561 552 17 -2 0 2 9 10 1 10 10 0
PIEARTSE 1,244]  2,825| 1,417 1,408 12 25 1 3 2 8 16 8 16 22 6
s 438 845 415 430 -7 -7 1 1 0 -8 4 12 0 0 0
ek —TH|[ 1,011 1,684 743 941 1 4 3 3 0 1 22 21 0 0 0
e T H 405 679 316 363 -3 -2 1 1 0 -7 7 14 4 4 0
kR =T H 629 1,695 793 902 2 4 0 0 0 2 7 2 2 0
sk BRI H 397 846 410 436 3 0 1 1 0 2 7 -3 0 3
e A el 2,442 4,904 2,262] 2,642 3 6 5 5 0 -2 43 45 3 6 3
FRIREET 20 59 31 28 0 0 0 0 0 0 0 0 0 0 0
B 777 1,832 899 933 -1 -5 1 1 0 -8 5 13 2 3 1
VEEE 277 668 322 346 1 0 -1 0 1 0 1 1 1 1 0
e — T H 408] 1,083 551 532 -3 -13 0 1 1 -11 2 13 -2 1 3
e T H 392 916 451 465 1 2 2 2 0 0 1 1 0 0 0
oo B R 800/l 1,999| 1,002 997 -2 -11 2 3 i  -11 3 14 -2 1 3
P — T H 613 1,325 664 661 —7 -15 0 2 2 -18 1 19 3 4 1
P T H 501f| 1,223 582 641 -2 —6 -1 0 1 -2 1 3 -3 0 3
Ve & a1, 114 2,548 1,246| 1,302 -9  -21 -1 2 3| —20 2 22 0 4 4
P e 285 661 331 330 -1 -3 0 0 0 -3 2 0 0
BEHIR 225 551 295 256 0 2 2 0 0 0 0 0




